Racines Variées (B)

Trouvez la racine de chaque nombre suivant.

J5832 = A1048576 = N100
Y1048576 = 13824 =
J13824 = 12167 = 64
V100 = J12s = s

100 = 15625 = 160000
\225 S | = J15625
V49 = dgooo = #707281
279841 = A121 = 19683
V36 = J10e48 = 3375
810000 = 483521 = 729
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Racines Variées (B) Solutions

Trouvez la racine de chaque nombre suivant.

/5832 =18

Y1048 576 =32

J13824 =24
V100 =10
V100 =10
\225 =15
49 =7

Y279 841 =23

V36 =6

Y810 000 =30

Y1048 576 =32

13 824

J12 167

J125

15 625

0

/8 000

V121

10 648

Y83 521

160 000

15 625

707 281

319 683

3375

\729
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